DEER Mountain Worksheet

Directions: When answering the following questions, use the reference guide to solving deer
mountain

1) What is the contour interval used on Deer Mountain??

a. 10m c. 200m
b. 50m d. 100 m
2) Which mountain is higher?
a. Berry b. Deer c. Neither. They are
Mountain Mountain the same height

3) How is the area of depression shown on the worksheet?
a. By using the Index contour
b. By drawing 2 black boxes
c. By using hachure

4) What is the elevation of Berry Mountain?

a. You cannot tell c. Greater than 800 m Less than 900 m

b. 800 meters d. Greater than 600 m Less than 700 m
5) What is the elevation of Deer Mountain?

a. You cannot tell c. Greater than 800 m Less than 900 m

b. 800 meters d. Greater than 600 m Less than 700 m
6) What feature is formed as a result of the branching of the river?

a. nothing c. lake

b. depression d. building

7) How do you know that the Campbell River originates in the mountain?
a. ALL rivers flow downhill toward the south
b. By using the “v” shape contour line pattern
c. Water is flowing from the swamp
d. You cannot tell

8) At what elevation is the lake at?

a. You cannot tell c. Greater than 400 m Less than 500 m

b. 425 meters d. Greater than 500 m Less than 400 m
9) Select the BEST answer for this symbol that is used on the map? i

a. Building c. Church

b. School house d. Hachure

10) Select the BEST answer for this symbol that is used on the map? |/ |
a. Houses c. Swamp - W
b. School house d. Hachure

11)Which mountain has steeper slopes?
a. Berry Mountain b. Deer Mountain c. Neither (same)



DEER Mountain Worksheet

\\\\\\\
/\j %@Mountain

300

N \ti M

Label all contour lines



